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P18.1 Using the stilfness method, analyze the two-span El = constant
continuous beam shown in Figure P18.1 and draw w =2 kips/fl

the shear and moment diagrams. E/ is constant. L l l 1 I l l 1
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P18.1 Continued
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P18.2 Neglecting axial deformations, find the end 30 kips
moments 1n the frame shown in Figure P18.2.
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P18.2 Continued
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P18.3 Using the stiffness method, analyze the frame

10k
in Figure P18.3 and draw the shear and moment diagrams p—3'—|
for the members. Neglect axial deformations. £/ )
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P18.3 Continued
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P18.4 Using the solution of Problem P18.3, calculate 1ok

the axial forces in the members of the frame. (Use freebody | % .
diagrams that relate axial loads in one member : A .
with shears in another.) T 7 ra
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P18.5 Write the stiffness matrix corresponding to the
degrees of freedom 1, 2, and 3 of the continuous beam
shown in Figure P18.5,
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P18.6 In Problem P18.5, find the force in the spring
located at B if beam ABCD supports a downward uniform /t\.‘ 't _
load w along its entire length. A L ¢ D
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P18.7 For the frame shown in Figure P18.7, write the
stiffness matrix in terms of the 3 degrees of freedom
indicated. Use both the method of introducing unit
displacements and the member stitfness matrix of Equation

18.36.
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P18.8 Solve Problem P18.7 using the direct summation
of global element stiffness matrices.
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